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side of the booklet cover carefully to open the booklet. Then proceed to answer the questions.

This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top rlght side of this page. Do not
write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You must
write your Name, Register No., Question Booklet Sl. No. and other particulars with Blue or Black Ball
point pen on side 2 of the Answer Sheet provided, failing which your Answer Sheet will not be
evaluated.

You will also encode your Register Number, Subject Code, Question Booklet SI. No. etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case, you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four brackets {A] [B] [C] and [D] against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE bracket of your.choice for each question.
Select one response for each question in the Question Booklet and mark in the Answer Sheet. If you
mark more than one answer for one question, the answer will be treated as wrong. e.g. If f01 any item,

[B] is the correct answer, vou have to mark as follows :

(2] Wl [C) (D]
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded. vou must hand over your Answer Sheet to the Invigilator. You are
allowed to take the Question Booklet with you only after the Examination is over.
The sheet before the last page of the Question Booklet can be used for Rough Work.
Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commaission may decide at their discretion.
For Question No. 101 to 200 in all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question booklet.

|TAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLEE
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Select the odd sentence pattern from the following :

(A) He ate the cake TA This shoe 1s large
(C) She sang a song (D) I wrote a letter

Find out the antonyms for the underlined word.

Some people mess up their houses with ever lasting rubbish.

1. Lasting 2. Temporary
3.  Changing 4.  Endless

5. Eternal

(A) 3,4and5b (B) 1,2and4

(C) 2 3and5 ' \/(1); 1,2and 3

Change the following into positive degree.
This temple is the biggest in India.

(A) This temple 1s as big as that temple

)\/QBT No other temple in India is as big as this temple

(C) This temple 1s very big

(D) Very few temples are as big as this temple

Identify the compound sentence.
(A) The box is too heavy to carry
(B) Owing to illness Rajan did not appear for the examination

(C) Even though he is poor he donates generously

\yf We must eat or we cannot live

HLE12
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Select the correct suffix to frame a new word. Using the given word ‘Purpose’.

[@a]

(A) able Co ity
\/(QT less (D) ness

6. Choose the correct antonym for the underlined word from the options given :

His ways of presentation is Unique.

4{)\ common (B) comparable
(C) indifferent (D) wrong
7. Which one of the following is a correct sentence?

(A) Ihad been living here since 1995 \//Eﬁ I have been living here since 1995

(C) T were living here from 1995 (D) I was living here since 1995

8.  Pick out the statement that doesn’t match with the given question tag.
(A) Wait a minute, can you?
(B) Push the door to the corner, can you?
(C)  Get the guide who can help you, can you?

y Have some more rice, can you?

9. Choose the correct synonym of the underhined word.

The rules are made to be enforced.

(A) replied \/(BY applied

(C) supplied (D) engraved

HLE12 4



10.

11.

Match the following sentences in Column A with the units in Column B and select the correct

answer from the codes given below :

Column A Column B
(a) Idream evervdav 1. noun
(b) Life1s a gift 2. verb
(¢) I write a letter 3. adjective
(d) Itis a business letter 4, adverb
@ @ (@© (@
(A) 4 3 2 1
1 23
(C)y 4 2 3 1
Dy 1 4 2 3
Comprehension :
“All the world’s a stage
And all the men and women merely players
They have their exits and their entrances”
@ : The word ‘Exit and Entrance’ refer to
(A) Love and Hatred \/CB’)/ Birth and death
(C) Life and love (D) Dream and reality

Give the suitable order of articles in the blanks of the given passage. Write the correct code

given below :

old man said to his daughter, “If servant finds any money
on floor when she cleans room, it is mine.”
(A) The, a, the, a (B) An, the, a, a
(CyL~ An, the, the, the (D) The, a, a, the
5 HLE12
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13. Match the following synonym from Column A with Column B and select the correct answer

from the given codes :

Column A Column B
(a) Lazy 1. Deep admiration
(b) Shouted 2. Unwilling to work
(¢) Learn 3. Speak loudly
(d) Respect 4. Acquire knowledge

(@ (b (© (@)
4 3 1 4 2
(B)

v

D)y 4 1 3 2

[RV]
IS
—
V%]

Do
LW
A~
—

14. Identify the sentence.

A man’s modesty is 1n inverse proportion to his ignorance.

\/(7{) simple (B) compound

(C) complex (D) none

15. Choose the correct antonym for the underlined word from the options given :

Einstein published his theory of General Relativity that was confirmed experimentally in

1921.
(A) promised ‘/(ﬁ) disproved
(C) refused (D) accepted
16. Rahul a lab assistant, a teacher, a book seller and now he a
journalist.
(A) 1is, was (B) 1s,18
(C) was, was (™" has been, is

HLE12 6 A



17. 1 the instructions but I them.

(A) will read, did not understand (B) will not read, will not understand

\),@5\ have read, do not understand (D) read, has not understood

18. Match the correct noun form for the verb ‘disturb’.

(A) disturbing \/B’)\ disturbance

(C) disturbed (D) disturbingly

19. Select the correct noun form word from the following verb ‘frighten’.

(A) fighting t)m] fright

(C) fights (D) frightening

20. Change the following verb into noun form Die.

(A) Deadly (B) Dead

(C) Dying . &)y Death

21. TFillin the blank with suitable article.

poor always work hard.

%ﬂ) The B) A

(C) An (D) No article

HLE12
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22.  TFind out the appropriate comparative degree for the following sentence.

This is the best response.

(A) This and that are better responses (B) This response is better than that

(C) This s a good response \/(’IjS This is a better response than any other
23. He—————ill since Monday and so he the meeting.
\-}A)/\ has been, could not attend - (B) 1s, could not attend
(C) was, cannot attend (D) had been, cannot attend

24.  Comprehension :

Language is the light of mind. So, 1s the English language 1s today’s context. But ever since,
we have become free, some people have protested against the retention of this language, which

has pros, and cons to it.
Q : 'Pros and Cons’ means
(A) Dreams and reality (B) lLike and dislike

(C) Differences and similarities \/((Bf Advantages and disadvantages

25. Identify the sentence which does not contain an adjective.

(A) She is a clever girl (B) Itis a pleasant evening
(C) Heis an honest man \g)m play chess regularly

26. Find the sentence in which the underlined word 1s used as a verb.

(A) Thave an English guide (B) Where 1s the tour guide
y Parents guide their children (D) We are 1n a guides camp

HLE12 8 A



27. Match the following words given in Column A with their antonyms in Column B and select the

correct answer from the codes given below :

(a)
(b)
©
(d)

(A)
(B)

Ve

(D)

Column A
Conflict
Petrified
Fiery

Full

(@ (b (©
1 2 3
4 3 1
3 4 2
S | 4

(d)

Column B
1. Empty
2. Peaceful
3. Agree
4. Reassure

28. Identify the compound sentence.

(A)
(B)
(©)

v

Despite her poverty, Anuja stood first in the examination

Although Anuja is poor she stood first in the examination

When Anuja 18 poor. She stood first in the examination

Anuja was poor yet she stood first in the examination

29. Identify the incorrect prepositional phrase from the options given below :

There is a car-park.

(A)
©

near the railway station

for the show-room

(B) 1in front of the hotel

: \}D)f\ against this building

30. Fill in the blank with suitable article.

Man, thou art

(A)
(©

an

the

wonderful animal.

B

(D) no article

9 J | HLE12
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31. Change the adjective ‘quiet’ into adverb using the given words.
\/@6\ quietly (B) quieten

(C) quetness (D) quietism

32.  Which one of the following has a correct infinitive?

L(ﬁz)’\ I had rather play than work (B) I rather play than work

(C) 1 wish to play thah work (D) I am playing than working

33. Match the folowing phrases given in Column A with their meaning in Column B.

Column A . Column B
(a) Plenty of 1. Regret
(b) Worry about 2. Alotof
(¢) Inahalf 3. Rest
(d) Take a vacation 4. In anger

@ ® © @
AN 2 1 4 3
® 3 1 2 4
© 4 2 3 1

M) 1 4 2 3

34. She as she into a taxi.
(A) fell, is getting (B) fell, has getting
\/Q@) fell, was getting (D) falls, will be getting

HLE12 10



36.

37.

38.

Effective Time Management means accomplishing more in less time. Beware of the
importance of Time.
Q : Time Management means
(A) Time table (B) Wasting time
\)Q) Doing more in less time (D) Whiling away the time

Fill up the blank with suitable prepositions given below as option.
Priya worked midnight.
(A) until /(B) till
(C) on - (D) along
Select the incorrect sentence from the following :
(A) Look! the children are playing (B) He is studying medicine

!yﬂ The child always crying (DY It is getting late
Match the underlined words in Column A with the parts of speech in Column B and select the

correct answers from the codes given :

Column A Column B
(a) Ilike apples. 1.  Adjective
(b) Ilike white colour. 2. Adverb
(¢) 1 watch movies often. 3. Verb
(d) Igo topark daily. 4. Noun

(@ ®) (© @
A 4 3 2 1
@ 2 3 1 4

e 3

(D) 3 2 1 4

—
Do
>
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39. il in the blank with the correct ‘Homophone'.

I don't want to marks.
(A) Loose (B) Loss
(,07 Lose (D) Louse
40. 1 my lunch. I uneasy now. [ to digest it.
(A) had had, feel, had to walk (B) will have, felt, had to walk
(C) would have, feel, had to walk \( . have had, feel, have to walk

41. Comprehension :
“Life is Queer with its twists and turns As everyone of us sometime earns”.
Q@ : The word ‘Queer’ means
(A) Famihar (B) Common
y\ Strange (D) Queen

42. Choose the appropriate active voice for the following :
At what time was the mail delivered?
VQA§ At what time did they deliver the mail?
(BY At what time will they deliver the mail?
(C) At what time would they deliver the mail?
(D) At what time have they delivered the mail?

43. Select the correct sequence of prepositions.

I will call your office some time the evening.
\ - atin (B) on,in
(C) no preposition, in (D) to, In

44. Find out the error.

The captain with his team members were in the field.

(A) the captain «B) with his team members
(> were (D) in the field

HLE12 12



45.  Fill in the blank with correct ‘Homophone’.

We were surprised to know his
(A) Decent
(B) Descent

‘ }Qﬁ Dissent

(D) Descented

46. Select the appropriate active voice for the underlined words

He must be written to.

(A) must be writing
(B) must written

(C) must have been writing

\/6/} must write

47.  Fill in the blanks with suitable participle.

Many we were freed from anxiety.-

(A) were arriving

(B) had arrived

\/GC} having arrived

(D) had been arriving

13
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48. Select the correct option to complete the given sentence.

The officer looked

(A) to the matter B) at the matter
\(C)/’mto the matter (D) in the matter

49.  The light — off while |
(A) goes, wrote (B) went, am writing
(C) went, will write . /(I)/)\ went, was writing

50. Choose the correct antonym for the underlined word from the options given :
They tried to harness the ultimate secret.

(A)  Gather L/(.Bﬂ Release

(C) Win (D) Discover

51. Find out the antonyms for the underlined word.
His look is Whimsical.
1. Modern 2. Unrealistic
3. Imaginary 4. Rational
5.  Fantastic
(A) 1,2 4and b \/(B) 1,2 3and 5

(C) 2,3,4and5 (M) 1,2 3and4

52. Identify the word which is not a verb.

(A) prepares \}B{‘ angry

(C) rises (D) plays

HLE12 14



54.

59.

Match the following phrases given in Column A with their meaning in Column B.

Column A

(a) Depend on 1

(b) Attend to

(¢) Fussover 3.

(d) Nestled up 4,

@@ ® (© @

chi‘3142

B) 4 3

o
p—

© 2 1 4 3

D) 3 2 1 4

Which of the following sentence is correct?

.\/(AB\ Few people knew the way didn’t they?

L /837 Few people knew the way did they?
(C) Few people knew the way don’t they?

(D) Few people knew the way do they?

Identify the simple sentence.

o

Column B

To pay a lot of attention to something or

somebody

To sit or lie down 1n a warm and protected

place
Rely on

Make much of things of no importance

(A) If you permit me [ will go away (B) You permit me and I will go away

(C) Iwill goaway if given permission \9/‘ With your permission I will go away

15
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56. Match the following words given in Column A with their Antonyms in Column B and select

the correct answer from the codes given below :

Column A Column B
(a) Ornamented ‘ 1. Darken
(b) Isolation 2. Limited
(¢) Infinite 3.  Unification
(d) Dazzle 4.  Plain

(a ® @© (@
) 4 3 2 1
3 1 2 3 4
© 3 4 2 1
D)

o
—
i
w

57. Pick out the sentence with SVIODOA pattern
(A) He gave her a lot
(B) Lastnight I had a bad dream

(C) Lucy presented the youngest one (puppy) to her friend

\}D‘f Henry gave her a pen yesterday

58. Comprehension :

India possesses a variety of forests and natural vegetation. We have tropical Evergreen forest

in Western ghats and semi Evergreen forest in Orissa.

Q : Which of the following statement is not true?

iA)  Theie are no forests in India

(B) Orissa is rich in semi Evergreen forests

(C) Western ghats 1s famous for tropical evergreen forests

(D) India is rich in natural vegetation

HLE12 16 A



59.

60.

61.

62.

63.

Pick out the sentence which does not have a verb.
(A) He drives carefully \/BS My new, pink purse
(C) He opens the door (D) Don’t make noise
Fill in the blank with suitable prepositional phrase given below :
dogs when you enter a stranger’s place.
(A) Aware of ‘/(BS Beware of
(C) Careful of (D) Assure of
Select the plural form of “Knife”.
(A) Knifes \/é) Knives
(C) Knaifs (D) Knies
The origins of cricket are obscure and there are several theories on how it started. The
shepherds used to play it, with one standing in front of the wicket gate to the sheep fold and
another bowling a stone or something at him and he would have to hit it with his crook.
Here crook means
(A) a staff (B) a half staff
\}Q)/ hooked staff (D) 1iron pole
Choose the correct antonym for the underlined word from the options given :
He possessed great innate wisdom.
(A} in born (B) unnatural
‘&Y acquired (D) artificial
177 HLE12
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64. Choose the correct question tag :

There are some late bloomers in your group.
/A) aren’t they? 'y aren't there?

(C) 1sn’tit? (D) are they?

65. Fill in the blanks with the correct verb choosing from the given words for the noun

‘examination’.

They the knowledge of the candidates.
\/(96\ examine (B) examinable

(C) exam (D) examiner

66. Match the following words given in Column A with their meanings in Column B.

Column A Column B
(a) Inflation 1.  Unforgettable
(b) Enhanced 2. Increased
(¢) Advent 3. Increase in prices
(d) Indelible 4.  Arrival

(@ o (@© @

B 1 3 4 2
© 4 1 3 2

D) 4 3 2 1

HLE12 18



67.

68.

69.

71.

Give the suitable order of article in the blanks of the given passage and choose the correct code
given below :
Rama entered shop. owner received him. He looked at
things in the shop. Finally he purchased umbrella.
(A) the, a, a, an \/(,B’}/ a, the, the, an
(C) a, an, the, an (D) the, a, an, the
Fill up the blank with suitable preposition given below as options.
Nobody knows the answer Murali.
(A) for \/GBS' except
(C) against . (D) than
Identify the degree and choose the correct answer.
Tokyo is larger than any other cities in the world.
(A) superlative degree L/(,B’)‘ comparative degree
(C) positive degree (D) none of these
Identify the degree and choose the correct answer :
Malacca is the oldest town in Malaysia.
(A) positive degree (B) comparative degreé
\}Qﬁ'\ superlative degree (D) none of these
Give the suitable order of articles in the blanks of the given passage and choose the correct
code given below :

Brihadeeswarar temple or big temple as it is commonly
called by natives of Thanjavur is architectural marvel of
immense glory.

(A) The, a, a, the (B) The, an, an the
(C) The, the, a, the \/(D’)/ The, the, the, an
19 HLE12
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72.  Fill in the blanks with suitable options :

down in the chair.

He the room and
(A) crossed, sits (B)
(C) cross, sit

73. Match the following :

(a) Stimulate 1.
(b)  Blurt 2.
() Impute 3.
(d) Protract 4.
5.

@ o © @@

A 5 1 2 3
\}B‘)\ 5 4 1 2
© 2 1 4 3
™ 3 4 5 1

74. Match the statements given in Column A with their question tags in Column B and select the

correct answer from the codes given below :

(a) He is good 1.
(b) They are friends 2.
(¢) He is not good 3.
(d) Iam notill 4.
@ (b)) © (@

A 1 2 4 3

\/(B) 4 1 2 3
(G 3 2 1 4
D) 4 3 2 1

HLE12 20

crosses, sat

‘/QB) crossed, sat

Disbelieve
Curtay
Courageous
Conceal

Pacify

aren't they?
1s he?
am 1?7
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75. Fill in the blank with a suitable article.

In olden days,

'\/@3\)

(©)

76.  Find out the active voice from the options given :

A)

(©)

no article

an

It has been tested

It is said that she 1s arrogant

(B)

D)

(B)

a

the

It was yet to be tested

\/Qﬂ It is an Interesting book

father is considered as the breadwinner of the family.

77. Match the following words given in Column A with their antonyms in Column B, and select

the correct answer from the codes given below :

(a)
(b)
(©)

(d)

(A)
B
(©)

(D)

Column A
Exuberance
Malignant
Mute

Folly

(@ () (o
3 4 2
3 1 4
4 | 1 2
2 3 4

(d)

21

Column B

Benign

Wisdom

Apathy

Noisy
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78. Fill in the blanks with correct cogent order of prepositions given below as options.

pursuance your Jetter we are writing today
the Chairman and posting it to him along your letter.
(A) in, to, with, of VéB,)\ in, of, to, with
(G- of, in, to, with (D) with, of, to, 1n

79. Identify the sentence which does not contain a noun.
(A) Parents guide their children (B) Always give willingly
S "\ Boldly, smartly and slowly (D) Students like cricket
80. Comprehension :

He, who teaches us anything which we know, not before, is undoubtedly to be loved as a

benefactor and he that supplies life with amusement will be caressed as a pleasing person.
Q : A ‘Benefactor’ is one
(A) Who blames others (B) Who aims at his personal gains

(C)  Who takes money V(D’)/| Who teaches uhknown facts

81. Which of the following sentence does not contain an adverb?

(A) He came late \ AB) Chennat is a big city

(C) 1 shall meet you tomorrow (D) I usually drink milk at night
82. 1 I his address.

(A) wished, know V(B) wish, knew

(C) wish, known (D) am wishing, am knowing
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83.

84.

85.

86.

Choose the correct antonym for the underlined word from the options given :
All her efforts turned futile.

(A) useless \/(B/ﬁ useful
(C) harmful (D) peaceful

Match the correct suffix, for the given root word ‘cardio’.

(A) -ism (B) —ish

(C) —-ment ' \/(,B')/l —gram

Find out the antonyms for the underlined word.

Raju had apparently changed his mind.

1.  Obscure 2. Lucd

3. Confused 4. Perplexed
5. Irrational

(A) 2,3, 4and1 (B) 3,4and5

(C) 1,2,3and5 \)Dj‘ 1,3,4and 5

Select the 1ncorrect sentence from the following sentences.

(A) You met the actor who is the hero of this movie

\/GB) The bridge was damaged whom they were willing to set right

(C) T found my key which was missing

(D) 1bought the book which I saw in shop

87. Find out the parts of speech that are used in the underlined words.
1.  You dictate the answer
2. Catch me if you can.
3. He is an honest man.
4.  He revealed the truth honestly.
(A) verb, noun and adjective (B) adjective, adverb and noun
\/('C) adverb, verb and adjective (D) noun, verb and adverb
A 23
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88. A knocking was heard suddenly in the silence of the night. Someone was knocking at the
castle gate. On hearing the sudden sound, Macbeth trembled like a leaf. He said, “How 1 wish

the knocking were able to awaken the dead king!”

Identify the tone of the speaker
-,/O\i) remorse (B) suspicion

(C) pessimism (D) none of these

89. Select the correct sentence.
(A) He put out his coat (B) He put in his coat

(C) He put at his coat L/(;&) He put on his coat

90. Match the following words given in Column A with their Antonyms in Column B, and select

the correct answer from the codes given below :

Column A Column B
(a) Inqusitive 1. Leisurely
(b) Inhale 2. Incurious
(c) Hastly 3. Simple
(d) Complicated 4.  Exhale

@ ® @© @@

@ 1 2 3 4
© 3 4 1 2

D) 4 2 3 1
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91.

92.

93.

94.

Identify the tense form of the underlined word/words :

Neetu has had a bad car crash.
(A) simple present tense (B) simple past tense

’Z/;' present perfect tense (D) present perfect continuous tense

Choose the appropriate passive voice for the following sentence.
Where did the police catch the thief?

(A) Where did the thief catch the police?

(B) Where will the thief catch the police?

(C) Did the police catch the thief?

\)D\) Where was the thief caught by the police?

Fill up the blank with suitable preposition.

Leela went into the auditorium mistake.

(/Gt(b by (B) in

(C) of (D) in case of

Match the statements in Column A with the question tags in Column B and select the correct

answer from the codes given below :

Column A Column B
(a) The apples aren’t good 1. aren’t they?
(b)  All those boys are boistorous 2. don’t you?
(¢) Iam not a fool 3.  are they?
() You like him 4. am [?

@ @® @© (@
A 2 3 4 1

B) 1 2 3 4

\/gef‘3142

(D) 4 3 2 1
25
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95. Fillin the blank with the correct ‘Homophone’.

He many points in favour of his case.
(A) sighted \/éB/)‘ cited
(C) sited (D) sitted

96. Change the noun ‘fall’ into verb choosing from the following words.
(A) Fallen (B) Falling
(C) Feeling T, Fall

97. Select the word with the correct prefix.
(A) antelope (B) antique
ngZ’)” antisocial (D) antonym

98. Comprehension :

To cultivate positive thinking, speak hopefully about ecverything. Positive thinking creates a
positive atmosphere and produces positive results.

Q : If you want to cultivate positive thinking, you.
(A) speak boldly (B) speak loudly
\}Q)f think and speak hopefully (D) speak softly

99. - Fill in the blank choosing from the given word the correct ‘verb’ for the noun ‘Pay’.

The manager the salary in cash.

(A) paying (B) payable

(C) payee _\}D’}\ paid

100. Find out the meaning for the underlined word.

The postmaster looked at the boy suspiciously.

1.  Careful 2. Doubtful

3. Untrustworthy 4. Dastrustful
5. Dubiously

(A) 1,2 3and4 (AB) 2,3, 4and 5
(C) 2,3and4 (D) 1,2, 3and5
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101. Match the following :
(a) Dispute between Union and 1. Judicial review

State Government

(b) Declaring a law unconstitutional 2. Original jurisdiction
(¢) Appeal from High Court 3. High Court
(d) Single integrated judiciary 4. Supreme Court

(a) (b) (c) (d)

2 1 4 3
(B) 1 4 2 3
© 3 4 2 1
O 1 2 3 4

Speumeuareupenm sfllwrg QUTHSEIS :

(a) wsHw-wrhe sirsseler Grssmanser 1. 54 wm ey

(b)  @melLb rdlud ersansHnG 2, (PBETEOD BT D SETHLD
(pranTTeng|

© ewrffuapsdadmbg Cod popSLe 3. swrbfoanid
@ poow grudomag Sfwdapd 4. esshfloaphd

() (b) (©) (d)
(A) 2 1 4 3
B 1 4 2 3
(®) 3 4 2 1
@) 1 2 3 4
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102. Consider the following statements :

L Kwashiorkor is a protein deficiency disease

II.  Kwashiorkor is an iron deficiency disease

[11. Kwashiorkor is a nutritional deficiency disease

Now select the correct answer,

(A) TandII are correct (B) Il and III are correct
"_, TandJII are correct (D) All three are correct
Spssan cunddlukisamens seled :

I, s&Geuraflgiant, Lyss @ennaure esmid Crmil

I1. &G@ﬁ@&@r’rsnﬁ, @HDLFSS) GenDeumed eu(HLd Crm

L. sGeunedlarant, ssgemmey Ganeumed a(mb CHmul

gfluran eflen_enwig Coips® :
Ay T wpmid IT & (B) I wogyw 11T &M
© T womyw IIT &M (D) apermid &

103. The younger leaves of a tomato plant in your garden shows interveinal chlorosis. Select what

supplement you will give?
(A)  Sulphur (&, Iron

(C) Copper (D) Molybdenum

o mad GamlL sdlaarar s&sral Gaguilen Gemd @aesealld, prblea_sgalld uFmswud @end

sralLBE DG SisHE Briser eravan ebg) oieflidTaem?
(A)  sHssD (B) &@miby
(©) smhpb (D)  wrelltigend
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104. The soil zone 15 considered to be a great biological factory because;

(A) a great varieties of organic compounds are generated in the soil layers
(B) necessary nutrients are made available to plants from the soil layers
(C) soil layer holds water in storage which 1s used by plants and animals

AT all of the above

¢ Afens AsmAnarapawulien g (p&dlu HNBISTS et HIH&E edlamiigdng). gaalia;

(A) e SH&EHET LegTUUL L > WTEAUTmHET 2 HLISS sueTn&Ns Dienldna)

B)  war HEGSETON BB, STEUTHISGERSHE (Sg,maj TN 8&giE&eT &lenl SHlemmg)

(C)  sreurasErs@b, elemki@aeEns@h Comeuwtar B werr iH&dHd Callsg amessliu®dang
(D) Cuhamdu enargsid

105. Name the neighbour galaxy of our own Milky Way galaxy.
(A) Antlia (B) Aquila
(C) Andromeda (D) Auriga

BLogl Lireeufl edlaimBer ol L SHlem imasembhs edlemben d L gdlem Quwrr.
A) el elwr (B) ss@eor
(@) e ConGuim (D)  yMan

106. Every vear, May 22 is celebrated as an
£A) International Day of Biological Diversity
(B) International Day of Tree Plantation
(C) International Day of Environment Conservation

(D) International Day of Conservation of Natural Resources

geulleumm =yeam®Hib Gw 221b Cudlerw Hanwong Qararr@HEHCDmD.
(A)  ueTeTL(h) STEUF LDEIGHSHELD HITET

(B)  uererm_(®) wrb BEH BrET

(C)  uwemestr () &OME G UTZIGTESEGLD HIeT

(D) venerm_ () GlWhens UNSET LTHIGTSHED HITET
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107. Which of the following is/are wrong?

I. The Indus people had the knowledge of surveying and geometry

II. Indus people had the knowledge of Astronomy

I1I. Botanical aspects were very familiar to the Indus people.

A) 1 B) IandIl

(C) 1, 1I and IIl are wrong , AL;'

LS G816 (Th 6 T 6L D M 6T SEUMTETTENaU 678/ eTaney ?

[ Apguued waser Hev siaranes LHMID euen sewflgd LnHw ifleneuls Quhdlmbaent.
II.  Abgilugd waseEnsE eunalwd SiMe| @ BHSS.

I sreuy @uéd bstisenets Ln Abg wasEssE berE COsAbdmHas.

A 1 B) Iwpmw II

(©) LIl wpmyw b geumy (D) 1III

. 108. Which of the following Vedic Literature contains the fine specimens of lyric poetry notably

addressed to the Goddess of the Dawn (Usha)?
(A) Chandogya Upanishad B Rig Veda Sambhita
(C) Yajur Veda Samhita (D) Atharva Veda Samhita

Epaaem_ ahs Ceus mred eSlipwe Gueas Qguiaiora (2 agr)-aen LD Corsduime @enslium L ms

LML §&686 LML & Qe rar(harerng?
(A)  #pCsns 2 LBlesd (B) A& Ceug sbadlgid

(C)  wiggeir Geus abadigb D) izt Ceug sbahsd
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109. Ketone bodies appear in the urine due to diabetes mellitus during
¢  Ketosis (B) Albuminuria

(C) Creatinuria (D) Mpyoglobinuria
Brlellen erbs Hlaneouder AmFher SLCLrer Qurperser Cararmin?
(A) &ECGLrfav B)  eoysariur

(C)  AAwrlgeyrdur (D) mm@un@@eﬁmﬁl@nrﬂmn_

110. The GPSis a
e, Satellite based system that can be used to locate position anywhere on the earth
(B) Satellite based system that can be used to identify the type of forests
(C) System used for measuring earthquake’s magnitude

(D) System used for assessing population density
GPS erénuigy

(A yeer CGupuyile 2 drar @Lmiseflanr Ssiewel g QeupmssCaTaad epobd iHbs

Q&merared
B) asr@sefan cuanasaner QewHeanssGarenser fpad HMHibg Camerare
C) Ao sfireysaisn ufiwramgans QswnhanssCareraar opad DB Csrerare

D) wssaLisHuder Lyeume® QFwDHeEHECHTETEE PO SBiH S

111. Sarva Shiksha Abhiyan (SSA), one of the major important educational programme 1is

connected with the
Elementary Education (B) Higher Education-

(C) Vocational Education (D) Adult Education

‘gireu Asagm sQwrenr (SSA) eraynd péQwinren swals Qanamswnang Qe e QammyemLwig

(A)  Ogm_ssasided Hlane (B) e.wunblenersd seaved
(C) Qsmfinsded D) wpHCwrT sl
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112. If the GDP is measured at the price prevailing at a point of time, then it is called
(A) GDP current price (B) GDP market price
(C" GDP constant price D) A +@B) +O)

@ GOl Cprgda Hoaydlan elemauiear oglumLueo GDP-aw oerellilLnd, oiwgs
Epsaart_sunn GHOUGLeTD

(A)  priyedamauiia GDP B) swsng eieneuie GDP
(C) Hevawrar efleneoulier GDP D) A+ @B +(©

113. The product method of measuring GDP involves
(A) 1ncomes generated from the production of goods and services
(B) adding up the value of everything produced in the country during the vear
(@) addihg up all expenditures on final output

(D) none of the above

2 DusSH e SlgUuat 1l sietelluu@®ibd GDP o drerLsdlwg

(A)  Qummeradr wHmbd Ceameusaflen 2 pLGHuG6n CLiTg 2 (HeurasmIUBL GU(HOTETD

£, @ @MUl cumrsHer @ priigd 2 Husd Qeuitu@Bibd geieunm Gurmeaiean whlieuwn
gl (Heug)

©)  wyey Haauld o arer Gunmersaier Bsren Qgawelanear sl (Heaug

(D) Cuwnlsnenen ergia|b e

114. A higher interest rate might induce households to but businesses to

- /A, save more, borrow less
(B) save less, borrow more
(C) save more, borrow more

(D) save less, borrow less

28a cully eSmansy @ @HIbL UM FTTHEEIET GlEw e (D, <,eTTed
Qg mified Hlmicueanhisener

(A)  dlswrar CaAlUL LHML GHODEUNS &L 6T QUG S1enT(HLD
B) Gomeuner Cafluy LHHID SHSSOTEN HL_ET UGS
(C)  iflawrear CafL wHmD S EnTen sL6m Uk G560
D)  Eepeurar CallUL LLOMLD G DEITET HL6HT U ESHE
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115. Consider the following :

I

IT.

IT1.

IV.

CO burns with a blue flame
CO 1s good reducing agent and reduces alkali metal oxides

CO 1s toxic because 1t forms a complex with Haemoglobin in the blood and this complexes

1s 300 times more stable than oxy-haemoglobin

CO form complex with N1 at 50° C and decomposition resulting complex gives pure Ni

Which of the statements given above is/are correct?

A)

(B)
(®)

(D)

11.

IIL.

IV.

(A)
(B)
(©

(D)

All are correct
II is not correct while I, 11l and IV are correct
[, II and III only correct

I1, ITI and IV are correct

CO., fev Hlma s (m_ast arflwid gniguig).
CO eretmug) flsé HAnbs asaigen aH&E @5 &nr 2 Gars Hpsamav(hamer hs@ESHns

CO eranug messsemew aumiibss. Q& Qrsssda o drar afCorgCamlayL e @enanhsy
Simanteyd CaMnsens s(HD. @5HS am@ﬁmé Gerwibd, g salafCGuorgCanmGaen e 300 wLrhiE

Hlepsgsenao BG5S

50° C Qesunflenaudey CO eremugy Ni oL e Comhg Siamaneys Comwdans . @EGsiwid
Aevgaipm giv Ni-gg s050.

Cupsrand sapm&afle argi/eTeneu flwirarenen?
SDSFID Filuiretan ey

II sflwneng edve e I, 111, IV eflwrereneu
I I, 11T o (b sflwreaneneu

II, I11, IV vl Gw sMlwreareneu
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116. Reduction of ‘smoke and collection of fuel wood’ to check deforestation is promoted by
(A) Community and Institutional Biogas (CIB)
(B) Institutional Bio-gas Plants (IBP)
(C) National Programme on Improved Chullas (NPIC)
(D) National Project on Biogas Development (NPBD)
srhHseT flgena sHULEHETE Lens whnib erflQummer wrsslam_sdr Csalssme Gapliughans
FHUBSSULL(HETET ienioLiL
(A) Community and Institutional Biogas (C1B)
(B) Institutional Bio-gas Plants (IBP)
" _){ National Programme on Improved Chullas (NPIC)

(D) National Project on Biogas Development (NPBD)

117. Which city is famous for ‘Kumbh Mela’?
(A) Ujjain , (B) Thrissur

‘¢, Hardwar (D) Uttarkhashi

‘@wuGuert HmeSlpreilng Usp Gubdn Babd eTg?
(A) 2 sEguler (B) Afigm
©)  onMsgeuni D) o sdrsrd
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118.

119.

Article 3 authorises the parliament to

1. Form a new state
II.  Increase or diminish the area of any state
JII. Alter the boundaries of any state

IV. Alter the name of any state.

Of these,
(A) 1 and]II are correct (B) II, IIl and IV are correct
(C) I, 1II and IIT are correct A I, II, 11l and IV are correct

arfwemoiy  0F  (Article) 3er &p @sHu  unyTEBLHVSEHDG HUDMES

GULPRISULIL (HETaTg).
I @@us wrBlab semwEs
II.  gmwrflesda Hlourlamu sHafss soaog Geonss

III.  wrflemsalsr croamaasamar wrhb Siemwés

IV, wrdleomseies GUweany wrmid Dia@wés.

A T wopow IT sflurerenen B) II, I wpmwo IV sflwreareneu
(C) L II wpgyw IIT sAwrerene D) L II I wpmyw IV sflwrearene

Which one of the following power is NOT in the concurrent list?
(A) Marriage and divorce (B) Newspapers

(C\ Foreign policy (D) Stamp duties

Speumeuateudmiar Qurg sl ipwed HaTrsHa augns s erg)?

(A)  SHmwewrid wHmD Qﬂmrra;ﬁg@ B) mrefigp
(C) GQeuelliypeys Qsrerens D)  sdennsrer ey
35
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120. Find the remainder when 2% is divided by 5

(A) 2 @ 3
©) 1 ro4
2% e 5 aydd augiid Guing Hols@inb | —den?

A 2 B) 3
€ 1 ») 4

121. A six digit number is formed by repeaiing a three digit number. Example 341341 etc. Any
number of this form is always divisible by

(A) 1100 . (B) 1011
4, 1001 (D) 1010
R (P Qa&s cramenant WOHUGULD UsESH® erpdl m 0 @ass aanr o (heurssiu®hEng.

o gryemTd 341341 etc., @bs LD 2 (HEUTESULHWL Tamsea rUCUTPSID THS 6T TR

UGSHEILIHW?
(A) 1100 (B) 1011
(C) 1001 (D) 1010
122. The Universal Serial Bus (USB) standard enables upto devices to be
connected to a Personal Computer.
(A) 130 (B) 128
(C)y 150 (Dy 127
sanfleudley &mellaaner Generras USB Cam_un® 2 gayb.
(A) 130 B) 128
(C) 150 oy 127

123. SVGA supports

(A) 1 million colors ' \/\.,) 16 million colors

(C) 20 million colors (D) 1 trillion colors

SVGA erzn @ gieven yildng?

(A) 1 hleedwen ouaenThi&er (B) 16 1060adlwi6ir cuaimT et il SaT
(Cy 20 18evalwen euaTaRTEIGET (D) 1 dMevedlwen euamrenigser
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124. Match List [ with List II and select the correct answer using the codes given below the lists.

(a)
(b)
(©)
(d)

(A)
(B)
("

)

List ]

Resignation of Congress Ministries

Sir Stafford Cripps
Quit India Resolution

Azad Hind Fay

(a) (b) ()
4 3 1
2 1 4
4 3 2
4 1 2

(d)

4.

List 11

Singapore

8 August, 1942

Member of Labour Party

1939

aufleng [ eulens ITelamans Qummsd) euflanssense &1 Qardasiul Gerer Qg @ 1 Saarear gflwimer

sllan_ulenans Qgifley Qals.

(a)
(b)
(c)
(d)

(A)
(B)
©)

(D)

auflens I

snidlre semwdsrae Uged aNeae

am eurGum® Hfus

GeneranemuGen GeuafGuigy Srwmend

2SS QS LN

(a) (b) (c)

4 3 1
2 1 4
4 3 2
4 1 2

(d)

o

37

aufleng 11

AT

8 %8&@@, 1942
QesmAn&_ & o muert

1939
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125. Find out from the following pairs of Sangam Tamil literature, the one which comes undcr the

category of Ettuthogai.
(A) Narrinal and Naladiyar (B) Silappadikaram and Manimekalai

(C)  Kurinchippattu and Mullaippattu (L Agananuru and Purananuru

&Cp sriul (et sis s sl @osfurisErdr obs @\ Bl Qaram . uEd ol HEbsTans

EIDEEE 9L miEh?
(8)  poflaamub pravguinyid (B)  Hauudsmapn wearflCuaenau b

(€)  EdlEpdluur_Hid apavenatium_(Hibd (D)  smreymibd yoHrETmid

126. Which of the following i1s correctly matched?

L. Baridshahi Kingdom - Ahlnédnagar

II.  Imadshahi Kingdom - Berar

1II. Nizamshahi Kingdom - Byapur

IV. Adilshahi Kingdom - Bidar

A) I d) 1
(€) I ' D) 1V

Spsaenreupmiar sflwrs Qurmassliul_(Heararg) erg?

I . uflgisrdl Currs — SIELOG) BEHT

II. Qusgsrd Guyys - Sy

III.  Aenbsrd Gurys - SegiLL

IV.  sigasrd Guirs - Sumr

A) I ®) 1II
(C) III D) v
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127. A raillway engine, which is moving towards the platform with a speed of 20 km/hr, blows a
whistle of frequency 320 Hz. The apparent frequency of sound heard by a stationary person on

the platform will be
£ greater than 320 Hz (B)

(C) zero D)

equal to 320 Hz

less than 320 Hz

@ guiled euarng 20 km/h flensGeussdler penL CenLeanws Curédl 320 Hz eidiCeuer Carar saseh

sard)d Qara®) eumid Guimgy, GuenLullé Hemms Qanan(® et Csl@w Camhmn oid TG e :

(A) 320 Hz L oflawngn (B) 320 Hz g gwb g,@G0

C) s Purgn (D) 320 Hz &L (gammeungd
128. The source of solar energy is

(A) fission (B) radiation

&, fusion (D) conduction

&M yppelier Gampmeums

(A) - 2 G&H(H DeTe (B) s&dieSse

(C) <amsam Csrsama (D) sLsmszO
129. Consider the following statements :

Assertion (A) : Insulin lowers the blood glucose concentration

Reason (R) . Lowered blood glucose concentration stimulates secre'tior'x of glucagon

Now select your answers according to the coding scheme given below :

}Af Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(C) (A) 1s true, but (R) is false

D) (A) is false, but (R) is true

A 39
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EPSHETL Fa.Dysmener Eeua :

samm (A) D @ensedlen @ysaddld FibmemT SeTape GHMDEE D).

sryenrid (R) L @enhs BTEs siEsamT ey & @nsGananar ereanm antiGuramen arés tealdng)
Spsranid GRS cpan sflurar clatamwug Coih0sBas |

A) (A wogbd (R Greasriib el wpmd R) eremug) (A)er sflurer aflenésibd.

B) A vpmb (R) @rew(n &0 wpgb (R) eremug (A)es #flwmen eflemésnade.

C) (A #f e (R) seum

D)  (A) poup spennad (R) &

130. The best known example of waggle dance was exhibited by Honey bees which was first

observed by

(A) (Girolami and Bielert 1987 (B) Dixon 1998

(C) Eugave Marais in 1920 ‘D.© Karl Von Frisch in 1940
Caesiasem Lflyb eurdlem pLend (pgedled wrpmed il L g?

(A)  Hfeord wHmybd epLGeom 1987 B) &g 1998

(C)  wdlé wryray 1920 (D)  snme eumer Liflay 1940

131. Fil in the blank :

Bacteria differ from viruses in being sensitive to

"y, Sugars (B) Proteins
Tetracycline ‘ (D) Fats and oils
Gamgl L @ gms Blylys
—edtefwr,  eeauralld @mbg CaumuBdsmsE STramDd, el @ (GenmeuTern

adlittienus s HeuCs.
(A) sr&sey (B) ygswo

(C) QLlgnensdlefen _ (D) Qampliy wHpb eTam@am
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132. Which of the following pair 1s correctly matched?

133.

Choose the correct answer using code given below.

I. Bharat Nirman

II.  Rajiv Awas Yojana

III. Jawaharlal Nehru National
Urban Renewal Mission

(A) Tlonly
(C) 1IIand III only

Shelter and basic service needs of poor

Support for shelter, redevelopment and recreation of

housing stock

Building infrastructure and basic amenities

(B) Ilonly
(D) IandIlonly

Epsar GG Qarar( afwner Qeventanus Gorey QlFils.

I. umrgs Hlromer

II.  predeu peurev Cuimggant

1L menanreme Crm Cadlw
BETLD L@ jenouL] (P
(A Twl@mwo

(C) Il wpyw I b @b

gapwpsailen g uuamL Gganeu bOMILD (&g ul(mLiLY
Guul@muy  odmb  eSlger  wheerTFsl LDDHHILD
OMILETFEnLOLILEE gianenTimudlmung)

Qg daasflumsar womn suanrdfléE Coensuwiren

BT HenULGET 6 S (HLOmED
By v Go
(D) T womid II bl GHid

An developing economy has the following features.

(A) Low per capita income, chronic unemployment occupational pattern

(B) Population pressure

(C) Only (A)

O NENER

(T GuETTThg) eu(hLd AummerTgITID 196ieu (WD G Eoarsamar GunmIeTers).

(A)  @opbs soreidls aimorand, Gursorear Geuamauidaamw wnmib Qgmbla Gurés

(B)  wésabgrens i(pssid
(C) (A) vl @w
D) A+ B

41 HLE12
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134. The pH of a soft drink is 3 and that of milk is 7. How many times greater is the concentration
of H,O" in soft drink than in milk?

(A) 4 times (B) 40 times

(Cy 1,000 times ~ (™3 10,000 times

om efturasfar pH wHiuy 3 wimnw urelen pH wdiy 7 aafld @aliuragda H,O0" ouwefl

Qafley LrenaeilL THFMaT DL G SHSG0LTS Q(FEEELD?
A 4 (B) 40

(C) 1,000 (D) 10,000

135. Nicotine upon oxidation with chromic acid gives
N/, ,‘ Pyridine-3-carboxylic acid (B) Pyridine-2-carboxylic acid
(C) Pyridine-4-carboxylic acid (D) Pyridine-2, 3-dicarboxylic acid
@GITAg oilen vwau g FlaCar_iger Caingeams sedlnbarhpin Galeusme &en g
(A)  9eer-3-srmur&Sedls oidleb (B) Qfleer-2-sriursdells odleon

(C)  9Neer-4-ariursdledls idlevd (D) Qfleet-2, 3-enLsnirun&Hals sidlab

136. Natural rubber is

(A) Polymer of ethylene (B) Polymer of butadiene

(C) Polymer of acetylene V) Polymer of 2-methyl butadiene

& e NI I

(A) ergdeSen eranugen LieLy (B) Gyl naiuSen eramugen Ll

(C) o geSen eranugen LieUly D) 2-QusHd QL menuSen cTamLiFen LUy
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137. What is special about this group?
‘Mahan Maharaj, Samir, Brahmachari, Shiraz, Minwalla’
¢+ Recepient of Shanti Swarup Bhatnagar Award, 2011
(B) Scientists involved in the research if Higgs Boson
(C) Scientists involved in space research

(D) Recepient of Bharat Ratna, 2011
‘ames warrrsy, #57, Grwasrdl, Frsy, Wereuren

Bhgé G pedler SlmiiL eramen?
(A) 2011 g ey haren Frpdl avalml LU Bra of(mg Ceuemeuisar
(B) afgev Cumenmes < rmisSuded mrHulighaeh 6bEhesreiger
(C)  eflameued ey rmusfuied rHul(Hearer 69 @serreflser
(D) 2011 b yewrgparar Unys et adl(mg Cummeursar
138. Mr. X wants to establish a broadband wireless net connection for his employers spread over a
radius of 30 kms. The wireless standard he needs to impart to them is
(A) Bluetooth connectivity (B) Infra-red connectivity

/{C) Wimax connectivity (D) Wifi connectivity
30 B gyl upl@ed 90Bg Couena Qe seang uaflwrerrsEnéa@ SHmeument. X ool el
Qanere. sbds Qemimldar sumas Gsm_ilamar o@mwss Q@mHbUADTT. el HeUTHEEHE ST

Ceuemmg i &595 QTLTS0 N euanSESTL T ST cTedres? -

(A)  Uen®s dgmiy B) @ssfasiy Gammy
(C) oo Gusen Qzmriy D) el Qsriiy
A 43 HLE12
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139. Consider the following statements :

In the words of Dr. B.R. Ambedkar, Directive principles of state policy are the “Novel feature”
of the Indian Constitution becausc;

I.
1L

These principles are in the nature of general direcction or guidance to the state.

They embody the principles or objectives and ideals which union and state governments
must bear in mind while formulating policy and making laws.

Which of the statements given above 1s/are correct?

(A) Tonlv (B) Ilonly

( BothITar II (D)  Neither I nor 11

Dr. © - eug “eigad Qpdls Carlursdr, @hdu rsenwlier s g Syl
=re e Temindy,

[ @meu prigen ciflam quing Senwnbgdrarer.

II.  wsdw, wrfle Sreaser b sl L_kigmenub, Garmeamasamann QuiHnib Gurg, e 2 selwurs

[ENGEIGS

@eummiev eTeneu FMwTEaTeneu?

(A)
(C)

| QUG (B) Il w @b
T wpmi b D) I @aeae b Gdeme

140. The constitution 52" Amendment Act of 1985 was enacted for what purpose

Choose your answer from the following responses.

(A)
(B)

ey

2/

(D)

To enhance the salaries of Supreme Court and High Court judges
Mizoram was elevated to a ‘state’ from union territory
For outlawing defection

Creation of National Commission for scheduled tribes

19851b gy @ig 6y S26ugy rdweeanoliy st SH(mSs0 aransns Clamanr(h eurliulLg?

gilwrer ellen_enw GCaihEsHEseD.

(A)
(B)
(©)
(D)

HLE12

2 wirddlwermid whmib 2 sbdwen fHudaaian suer 2 wTeydans
watwen SrCasnms @mbs WOCaTTTD wrklewwns WrHmUULL g
a8 greud sent Gl

UL igwiedled 2 arer FTwmAenmeare CoAw BLememTid HewnEs
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141.

142.

143.

Item : Food Clothing Iducation House rent Others
Expenditure : 300 75 40 75 110
When we represent the data on percentage diagram, the percentage of expenditure on

clothing is
(A) 18.33% (B) 6.66%

©)  12.5% D) 50%

2 (HLilllg. | 2.aw6] 2.el. Ul eUTLENS FehalieIDanD

Clgevey : 300 75 40 75 110

Qar@asiu’_(feater afeugmisener eN(paeET(d Ul alleaTds UL D (PO UG AIEIDSBTR, D el dETa

Qeavey efl(1pdsTH peg
(A)  18.33% (B) 6.66%
(Cy 12.5% : (D) 50%

If BHASHA is coded as 154754, BRAIN is coded as 13408, AHINSA will be coded as

(A) 458074 (B) 4056847

(C) 450847 (D) 450874

BHASHA eranugy 154754 erammyn BRAIN ereigy) 13408 eremmyd @dssiuLréw AHINSA eremug
ereueunm) &M&aIuHibn?

(A) 458074 (B) 405847
(C) 450847 _ \),DS' 450874

The sum of odd numbers from 1 to 31 is

(A) 496 B

() 240 (D) 288

[S]
(13
(o))

1-eN(mmba 31 eueny o_erer @heppLILIEHL eTam&aiien gl (HEH0sHTendHd: &Hiremr |

(A) 496 (B) 256
(C) 240 (D) 288
45 HLE12
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144. The Ministry headed by Rajaj in 1937 consisted of the following ministers (Identify the
correct one).

(A)
(B)
(©)
(M

T. Prakasam, V.V. Giri, A.T. Pannirselvam, T.S.S. Rajan
V.V. Gir1, T. Prakasam, T.T. Krishnamachari, T.S.S. Rajan
T.T. Krishnamachari, T. Prakasam, A.T. Pannirselvam, S. Ramanathan

T. Prakasam, V.V. Giri, T.S.S. Rajan, S. Ramanathan

19376 @rrened semeambuiorer amwisrameuuild Wanaimueurser sewésTaamilFrgant (#fluren

QenenD SjenL wirard dadis).

(A)
(B)
(®)
D)

g 197578D, 6569, £, & .1q. venafT@adeulb, 1g.crev.erav. @Trmen
alil.ef. SIfl, 1. Slgarsb, g.1q. Smayenonasml, 4. erev.cTen. @rmeen
4-tq. Hmegantondsnl, 4. NgETFD, o 1. LanaiTEFoeuid, eTen. ETTLOGNS6

4 Sysnad, 69.65. i), 1. erev.aev. @omaen, erav. GrropTEen

145. The congress passed the ‘Quit India’ Resolution on 8 August, 1942 for the following reasons :

I
II.
I11.
IV.
V.

\/(A)

(©)

Failure of the Cripps Mission

Japanese forces moved towards India

Sympathy with Japan

To compel the British to accept the demand of Indians for independence
To support the Soviet Union.

I, II, and IV are correct (B) I, II, III and IV are correct
I, II, I1I and V are correct (D) I, II IVand V are correct

Giemeu(mhd sMrarmbsErssTs 19420 am(® waav® 8 mrear smbidlys ‘QoudamenuCean QeualCugy’

Siorersens GuibBlug
[ &fde gngis Geedlen Camaelulasme
. @sdluremes Crrsdl sguiuraflul uent g6t LpUUl L sanTe
[IL. ggtljurrstsﬂLLh ST W AESTUSS eoTed
IV, gmdCawutsdar GpdHurseaien sl@sme Camsmasamwu gons Qardrer sl L_muluBEgelsnars
V.  Gsrelws waflwenen ysfuugnans
@A L 1L, vpgw [Vib &f @y LI Il womo IVib &M
©) I 1L Il pgd Vid &f (D) L IL IV wpmnd Vi &
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146. Match Last I with List II and select the correct answer using the codes given below the lists.

List ]
(a) Gulbadan Begum
(b) Inayat Khan
(¢) Abdul Hamid Lahori

(d) Abul Fazl

(a) (b) (c) (d)

(A) 4 3 2 1
(B) 3 4 1 2
. (%] 2 3 4 1
(D) 3 1 4 2

o

List IT
Padsha Namah
Akbar Namah

Humayun Namah

Shahajahan Namah

auflens Iyrean eaflens Ilefanans Qurpsd eulanssende S QarBsstu Hearer GsmEdedmbs

sflwurer ellevwWenans Gsfley Qaus.
sufflens |

(a) @ougrer Cusb

(b)  @emupanan

(©) =g anlbg CarsA

(d)  iye ursa

(a) (b) (©) (d)

(&) 4 3 2 1
(B) 3 4 1 2
(©) 2 3 4 1
(D) 3 1 4 2

&

47

suflens 11
LITLC_@SIT BLDIT
SISLIT BIDT
aubl Loy 6t mrLom

m:rrgaarr@'ﬂ BT

HLE12
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147. Which of the following is correct regarding steel?

(A) Iron with > 0.5% carbon (B) Iron with < 0.25% carbon
(C) Iron with 0.25 — 2% carbon (D) Iron with 2 — 4.5% carbon

£~ g ifidy eredlenens QUITmESIDL 160 15 eflumen snmhm?
(A L w0.5% anrues (B) @mibyLen < 0.25% smiue

s 0.25 = 2% snrue (D) @mbyen 2 —4.5% sniuen

148. Wimbledon 2012 men’s Champion Roger Federer belongs to which country?
(A) United States of America (B) Spain
(C) Switzerland (D) Germany
2012-é yar(hsEnssret 65lbder e Gamlemuenu eusnm Gyrepd GLiL 7T erhbs Brlan & Ganbgeury
(A) <=Quissr (B)  avQuule

0y evelil aenbg) (D) Qgirwerf

149. Match the list of provisions and articles which can be amended under Art. 368 and select the

correct answer using the code given below the lists :

Provisions Article
(a) Election of President 1.  Art. 54 and 55
(b) High Court for Union territories 2. Art. 241

(¢) Executive powers of union and states 3.  Art. 73 and 162

(d) Distribution of legislative powers

between union and states 4. Art. 245 to 255

(a) (b) (c) (d

A 1 2 3 4
(B) 2 3 4 1
© 4 3 2 1
(D) 2 1 4 3

HLE12 48 A



150.

<1pflwe @by of4 368ar Sp derar(® cursss Aflajser LHMD THwd oy eldamer
sflwrs Qurmssed. GnE &0 Gar®ssiiul@earar @GollGemer Qoran® sflwrer edept aus
CsipQs 0.

Gifley SrFe Sl 694

(@)  EYures samesur Garey 1. Art. 54 wHmd 55
() welwer GyGsemseErsE e widwenpd 2. Art. 241

(€)  wsHU WOHD LIl ATHEETEES,
BlTeirs Hfamyb 3. Art. 73 wpmw 162

(d)  wsHu oHHIL LB oiTssaflaL e men

sl D sy Lidliey 4. Art. 245-6 @Q(wBEg 255 euany
(a) (b) (©) (d)
(A) 1 2 3 4
(B) 2 3 4 1
(C) 4 3 2 1
D) 2 1 4 3

The smallest difference in radiance detected by the satellite sensor is called
(&)  Spectral resolution -

(B) Spatial resolution

(C) Radiometric resolution

(D) Temporal resolution

W& gievellw Geutiugans serrLflyn QewnamssGamer ﬁ@é&@fm_m@;wsaﬂeb GTEnGU ?
(A)  Howreea Siglueamiuod Sroralssea

B) elarQeiad oiguemula Srorailsse

(C)  eurQenmed) LTy SigliuenLudled Siroreafgge

(D)  Crrsyglinem e Siorealgse

49 HLE12
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151. Consider the following statcments :

Assertion (A) : 41 percentof the moon surface is never seen from the earth.

Reason (R) : The moon rotates and revolves in the same direction as does the earth.
(A) Both (A) and '(R) are individually true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A)

(C)  (A)1s true but (R) 1s false

(D) (A)is false but (R) is true

Epasramid eunsdlwnisener seuaf :
gy (A)  Blovellen 41 ssais LEd yeilulla eruCurgCGu yauu@Geudldeama.
arrenid (R) T Sleor yedular iCs enaudGaCu 0§ spadamg).
(A)  (A) wogw R) @uear®HGu &, Cogud (R) erémug) (A)ellne sflurer eetasn.

. (B, (A) womid (R) @ram(®id &, Cueyd (R) erenuigy (A)edli@ sflwnar eflendamnde.
(C) (A afl pammev (R) seugy

(D) (A) seumy penmed (R) o

152. Fujita scale refers to
(A) the scale to assess the severity of flood
(B) the scale to assess the carthquake severity
(C) the scale to assess the relative severity and damage of tornado

(D) the scale to assess the cyclonic severity

Y alam eremm <siatey eTenss (G HlEsng:?
(A)  Qeudrargdlen Sellggens UG o sayb Sjerey
B) fa phsssdean Felggamns LA 2 Fab eTey
N a1 Fellpgen, ~7 o~ C e HUID fleneuu b wHLG B0
(DY  ywelen Sellgsens wdH i o gab ieTey
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153.

154.

Consider the following statements :

The aim of proportional representation is

L. To eradicate the defects in the ordinary system of election.

II.  To ensure the representation of all the people in the legislature.

III. To enable minority representation

IV.  To ensure the representation of every minority group as well as majority in proportion to

their electoral strength.

Select your answers using the coding scheme given below

(&% TandIIonly @B) 1 1Iand IIIonly

(C) 1II, IIT and IV only (D) I, IL III and IV

Epsaapr eursflksamen seuafl :

sflafldlg GrdEldsaen Comaa panpuler Crrgaid,

[.  engrgeant Garsed wpenmulen @ naemer BaEeug

II.  sieasg wssellar Grdfldlsgiasens sl sl fleaprl (Heug

III.  fAnyurerenwCuriler YrdHldlsgeud agpuBss

IV.  $purearenwCurmb, QugpbureepwGummLD HID aramenilaamnssGanm
Caibasay ULl 5568 cuansuliennea (penn

EpasarrL @HluSHamer LeaLiBss) sflwrer eflenLenw eT(pgy).

(A) Twpomw I b Gb B) I II womgw HI vl G

(C) II I whond I'V ol Hid (D) LII IOI npmw IV

Match List I with List I1.

List | List IT
(a) Shiksha 1. Metrics
(b) Kalpa 2. Grammar
(¢) Vyakarna 3. Phonetics
(d) Nidhi 4. Astronomy
(¢) Chandas 5. Rituals
() Jyotisha 6. Chronology

Select the answer from the codes given below :

(a) (b) © (d) (e) ®

(A) 1 3 2 5 4 6

(B) 2 1 3 6 5 4

(®) 5 3 2 1 6 4

97 3 5 2 6 1 4
51

eigliulg
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ulgquey T an uiliquwied gt Quimmsss.

L iguwied I
(a) Slaagn
(b) sewm
(¢)  eNwnaiemwrm
(d)  B#f
(e)  FemrTLmaw

) Cgrsélagm

1

>~ W

a

6.

ulgwed 1T
wrtGwe
@ osseario
aedludliéd

euTenTl ey
FLIBIE (PEnDESET

Bevd sanfliiy @penm

@S Gsatledmbg eflwrer ellen_anw CaTHESHES D :

() (b) (©) (d)
(A) 1 3 2 5
(B) o 1 3 6
(C) 5 3 2 1
O 3 5 2 6

= O QU

(e)

(B)

155.
adding “Brahmacharya” as the fifth doctrine?
(A) Rishaba
(C) Parsva

(®

S N )

Which among the following Thirthankaras completed the concept of “Panchama Dharma” by

Arishtanemi

Py Mahavira

&Gy QarissuulL Srgsmsyrsaie, eeur “Grovsmun”’ aean smsoms Cersg ‘UEHEL HTLL

Gam_um e isd Qaigmm?
(A)
(©)

MagLir

LTTFeUT

156. Which is wrongly matched?

! Zinc — Enzymes

~ v, Magnesium — Dry cell

goupren AUNBEEE®EHS 66 (HLA9E660.
(A)

(©

HISHSBISLD — GTENENHEUVLD

aaTaShuw - 2 i aseawn

HLE12

(B)
)

(B)
D)

B)
@)

52

<ifayoCrL
wanred i

Iron — Hemoglobin

Bervllium — X-ray tubes

@y ~ afCmECermlan
Qufievelwd ~ X-adr @pru



157. Match the following :

(2) Article 74
(b) Article 356
(¢)  Article 370
(d) Article 368

(a) (b) (©)

1 4 3
(B) 2 1 4
(C) 3 2 1
(D) 4 1 3
QuTBESE -
(a) o974
(b) a9 356
© &34 370
@) o9 368

(a) (b) (c)
A) 1 4 3
(B) 2 1 4
(C) 3 2 1
D) 4 1 3

(d)

(d)

53

Councll of Ministers
Amendment Procedure
Jammu and Kashmir

Emergency

seyendled 20 wibdlMaer

Sigflweenwliy H(HSS 1penDEET

SDP WHIILD HTeigr

QOBm&sy. Hlene sidladlliy

HLE12
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158. Which position was held by all the following persconalities?

1.

f)

e

3.

Krishan Kant
Gopal Swarup Pathak

Bairon Singh Shekhawat

Choose the correct answer

(A)
(~

i?'l.Ql
1.
2.

3.

Deputy Prime Minister (B) Chairman of UPSC
Chairman of Rajya Sabha (D) Chief Justice of India

"L <Sienaneupld 6ThE Ugeilenil cudlEsmiser?

&l eig et S eI
Camume evauepls LSS

enuGrner flm Cogsreunsg

sflwirer eflenL_enwt CarpbogHaseb.

(A)
(B)
(©)
D)

Flanamt Aygwom
waSIw Lerflwreri CHTea| peenruid S g s
wrhleonsaranaiuier HemeueurT

2 &g Bwan senwenn HHUS

159. Which one of the following statement 1s correct?

(A)
B)
(©)
i

A person can enroll as a voter in more than one constituency
A person can enroll as a voter in more than one part of constituency
Only fine 1s imposed for giving false particulars in voter’s registration

Both fine and imprisonment can be imposed for giving false particulars in voter’s
registration

SpeumeuaneunmieT eThE sammi FRlwirang?

(A)
B)
(©)
D)

HLE12

& U e sm@dlsE Cod aurdareryns Lsle] Qeliwemd

p(m BUT e Agr@dullen e udsaic undsrearyrs Ldle Qelwed

aungareryra Ldedlen Curg sammer elurn Aan(BssTe uFrs GeTanaGL SaET_manurEn
eunanaryrg Lglellen Gurg seunmen elugh QsrHSsTe NUTTE QSTasUb, @ e fop

sem_enesiid 645 &E L (M

54 A



160.

161.

162.

What is the value of X in Fig. II?

25 64 9
16 22 | 36 9 16 1 4 15 1
49 X 81
I 11 11
A 4 B) 16
©€) 32 D) 2
oL IT-é o arem X-@eim iy
25 64 9
16 | 22| 36 9 16 1 4 15 1
49 X 81
I II III
@ 4 4 16
(C) 32 (D) 2

For a set of 500 observations variance is found to be 125. If 25 is added to each observation
and 55 is subtracted then the new variance 1s

(A) 95 B) 150

(C) 180 (D) 125

@i sangdlen D00 sar fps sieredler wrmur@h 125 @b, 25-8 sy Getanm 55-g geubeun(m
<erelD @b SNSSMQ, Werert LW wmyur_reig)

(A) 95 (B)y 150

(C) 180 Sy 125

Two students A and B scored the same average marks in 10 tests and the standard deviation
of marks are 2.5 and 3 respectively for A and B. If the consistency of performance is the
criterion for awarding prize, then
(A) B should get the prize

A should get the prize
(C) Both A and B should share the prize equally
(D) Prize winner cannot be decided. Since average mark is not given

@uarr( wremeuisear A wHmb B syrefuns 10 Coreller @l wil@uer Qupmy Qmpseant. A whHmyb
B-uler Sl efavsawrarg 2.5 whmbd 3 wpenGu. Seuitsalea flaoliys saemw Qurmrsg ufs
auprIsu(Heug erafle

(A) B uflas Qup Ceuet(Hin

B) A ufleQup CeauasrHib

(C) A wvpmw B uflens swwrs 9Mgg Qamerer Geueit(Hio

(D). sgrefl wHIGUaT AaerTRssLuLrsgsTd ulls Qunueaiay (igey el Qurg

55 HLE12
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163. Match List [ with List II and select the correct answer using the codes given below the lists.

Last I List IT
(a) New India 1. Lala Lajpat Rai
(b) The People’s Friend 2. Bipin Chandra Pal
(¢) Bante Mataram 3. Dadabhai Naoroji
(d) Rast Goftar 4. A.O. Hume

(a) (b) (c) (d)

2 4 1 3
® 3 1 4 2
© 4 3 9 1
(D) 2 1 3 4

ulguwe Ierer ulgwe Ilgh Qurmsd, ulguLsErsGs &Gy 2 emer QsrE@ NS mbsy sflwmen

enLwllanang Gaifley Qels.
Ll igwed [ uiguied 11
(a) Hluy @pHwr 1. ererenus rm
(b) & Stgeed SuSgar 2. 99 sidy Lne
() auBCs sy - 3. srgrumi @perGrmsd)
(d) grevl Gam el 4. .. aubluyid

(a) (b) (©) (d)

(4) 2 4 1 3
(B) 3 1 4 2
© 4 3 2 1
(D) 2 1 3 4
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164. Under the leadership of Khan Abdul Ghaffar Khan, popularly known as ‘The Frontier Gandh?
the Pathans organised the society of Khudai Khidmutgar (or servants of god), known

popularly as

(A) White shirts (B) Red army

(C) Red shirts (D) White army

‘arivemer &S eran UsPAUDD ETeT DUgID SUTT Srew enaewlilld ugraluiser ‘Gm fHsnssren’

(sLoyefler  Geeusiser) eragyd shissmss OpTimdlent. g o@mercgrain  aearardeuem

SiluiuLg?
(A)  Qeudhenerd sL_anLser (B)  SAsiyuuen
\}@’ Helys sl geT (D) Qeusramenis LenL_

165. Match List I with List I and select the correct answer using the codes given below the lists.

List I List II

Poets Works
(a) Kalidasa 1. Ashtanga Sangrata
(b) Vishnu Sarma 2. Surya Siddhanta
(¢) Aryabhatta 3. Panchatantra
(d) Vaghbhatta 4.  Sakuntalam
Codes

(a) (b) (c) (d)

4 3 2 1

(B) 3 4 1 2
(©) 1 2 3 4
D) 2 1 4 3
A : 57 HLE12
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WPese Uligwenawh, @rarireug ulgueaewd ubl®, Spssar. Qsrelifer gieanGuin(,
sflwnen eflenanw Bef&saLb.

uligwe I Uiy wiey 11
LeOEUT&HET L| bl &I
(a) sreflgmeum 1. D{EGL_MTRIG FRIETHD

o

(b)  eflciggy &iom G&MNw SssTHab

(¢)  prwuler 3. LERFSHS D
(d) amsiom 4. smEgHBS@OD
GoluiHser
(2) (b) (©) (d)
(A) 4 3 2 1
B) 3 4 1 2
©) 1 2 3 4
D) 2 1 4 3

166. In which Edict did Ashoka declare his faith in Buddha, Dharma and Sanga?
(A) Maski Minor Rock Edict (B) Rumminedi Minor Pillar Edict
(C) Sarnath Pillar Edict Ty,” Bhabra Minor Rock Edict
TESOE I IGIETET fH anawrudey UFSET, STob, FmEsD @eupdlar ure nCaraT Senepeni il
rHur_en Sibedggerarii?
(A)  wrevduler gy e sOGauL( B)  BLECHGGen gy gram oG [
(C)  smrpraden grem a6l (H (D) urdpr oy ey swQeu{H

167. Why Lord Canning was called as Clemency Canning?
(A) He loved Indians and gave them high posts
(Bf He issued general pardon to the mutineers
(C) He reduced land tax
‘ (D) He was appointed as the First Viceroy under British Crown

srafin Yy “smeanamyerar araflh” arenm enpsEsliul L gl eren?

B) @ndwursaien Bg WBlgHs semGur® e wrugelameT euridluigre

(B)  Auund sessdHe mHul enatal(haHE 0 QU werafl L euphidlugme
C)  do esflerws eulr G@DSHSTED

D) ONligey syertiasder s eeudlTruns et HludlEsiul L g
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168. In the digestion of carbohydrates, the following sugars are converted to their simpler forms

169.

I. Starch — Maltose + Isomaltose

1I.  Maltose — Glucose

ITl. Lactose — Maltose

IV.  Sucrose — Glucose + Fructose

Which one is/are correct?

(A) Talone (B) II andIII

(C) II, IIT and IV B, I, IIand 1V
arrCurenapl Gyl Qefwrargdle, Spsaranhd srésmry Qur@mlser oeupbler aallu eugeukserns
wrhouu@Earmer.

L guL_mié — wrel GLmev + Gemnme_GLmev

I wreolGurey — @EnsGamen

I, erslCumen —» wmol GLman

IV. &Cprev — @epsCamen + Grs Grmen

erg)/ ereneu &2

A To @pw B) II womw II1
(C) II, IIT wpmw IV (D) L II womud IV

Match List I with List IT and select your answer using the codes given below :

List I List II
(a) Smallest flower 1.  Dischidia rafflesia
(b) Biggest flower 2. Canna
(¢) Irregular flower 3.  Phyllanthus
(d) Monochlamydous flower 4, Wolfia
Codes :
(@ () (© (d)
(A) 2 1 3 4
B) 1 2 3 4
(C) 3 4 1 2
4rs) 4 1 2 3
59 HLE12

[Turn over



uligwed I ulgqwe I o ar Qummsd, 8Cp Gar@ssiul Herer GHlusamead Qarar( &. (

elenLenws CarpElas® :

uligwen I u g uiéo 11
(a) yelé Waseb fAdlug 1. eV &g wim gmSledlerSiwm
(b)  yele Baeyd Gulwig) 2. &EOITEnLD
(¢) sw&syHn U, 3. QaCeengen
(@) el eu’ b ol i 2 emer 4. o anwr
@D Paer :

(a) (b) (©) (d)

(A) 2 1 3 4
(B) 1 2 3 4
© 3 4 1 2
(D) 4 1 2 3

170. A is the assertion and R is the reason. Examine these two statements carefully and select the
answer using the code given below :

A  We are able to hear the sound behind the walls or obstacles

R: When the wavelength of a wave is comparable or less than that of an obstacle, diffraction

happens.

\/(49 Both A and R are individually true and R is the correct explanation ofA_
(B) Both A and R are individually true but R is not the correct explanation of A
(C) Aistrue; but Ris false
(D) Ais false; but R is true

A aaiug snm. R ererug srpemn. Geneu@md @ram(h eumsdluibiseneT g, Gergriul e

@Muyssemar LweT{R S eSlan_wafisseyin.
A seaif HMID SMLSEHEEGU NeerT @(HEg aumb gallenws Brd CalHGnmb

R, @f swolier gmaferd eiga Lrmsula o.der sl gar womb Qumml seflsr ierellnEs

gowraCeoun, @aparsGeaur @mbsTe. efaflibL euemara] erHu(Hib.
Ay  Auvpmib Rarsduiigear gallssalGu afl. R eranug Adsrar sfluner sryewrid
(B) Awvpmpb Rensfluksd saflfsalCu 2 aramm. oarmed R erenugy Adarar sryemrid e
(C) Asf, Rasfluoe

(D) ReM yame A sfwde

HLE12 60 | A



171. Consider the given Fig. of ocean currents around North America. Match List I with List II and

select the correct using the code given below lists,

(a)
(b)
(©
(d)

(A)
®)
©
v’D

List 1

Current Number

1

11

111

v
(a) (b)
3 4
2 1
4 2
1 3

> W oo

(d)

RO A

North

America

W

List II

Current Name
Alaska

Gulf stream
California
Labrador

Qar®ssiulHerer euLHNQwissrancus snHluarar sL BOTTLL s UL _Gng smeH Qardrs.

auflens | suflens [T Qumrmss), sftwirer @HuSH 2-drer uflewag CoTHOSH&Ss.

(a)
(b)
(©
(d)

(&)
B)
©
)

cufang 1

BCrml erer

I

IT

III

v

(2) (b)

3 4
2 1
4 2
1 3

(¢

> W W N

(d)

1
4
1
2

L\

61

aflane 11
FCrm_gHen Quuir
SIOTAVEIT

Fals BGym_L1d
seCGumrraflum

QUL

HLE12
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172. Match the following Neolithic centres of paintings with their districts.

(a) The Son Valley 1.
(b) Manikpur ' 2.
(¢) Singanpur 3.
(d) Hoshangabad 4.

Select the answer from the codes given below :

(a) (b) (c) (d)

£ 2 4 1 3
(B) 1 2 3 4
(O 3 4 1 2
D) 4 3 2 1

Raigarh
Mirzapur
Central Province

Uttar Pradesh

L&IFDSTE el enLDWIBIGED G DIHEHT DML L Bi& @KL 6T Ol LIM(h53)5.

(a) Cemerm LGTETESTEHS, 1.
b)  wresy 2
(© Arsrenyy 3.
(d) QCapregmsTurs 4.

TI&ETT
Wlraumy i
WSEI LOMSTEILD

2 sy AgCsemd

@GOG saflembe sMwren ellaLamu CoBOS0HESEELD ©

(a) (b) (© (d)

(A) 2 4 1 3
(B) 1 2 3 | 4
©) 3 4 1 2
D) 4 3 2 1
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173. The title ‘Sardar’ was given to Vallabhbhai Patel during the
(A) Salt Satyagraha £i- Bardoli Satyagraha

(C) Civil Disobedience Movement (D) Cabinet Mission arrival
‘Frgni’ erad ULLLb euaeumi L CLaysE @bElawnedluilar Gurg eflgslinl L g
A) ey ssdundlgan (B) wrCGzral sgHwindlysid

(C) sl wply Qussd (D)  arlarl sienwést g eumansuden Cumg

174. Who had sing songs on Nammalwar as God instead of Thirumal?
(A) Mathurakavi Alwar (B) Thontaratippodi Alwar
(C) Poikalalwar (D) Thiruppanazhwar

Fmrenes UTLTe pHdompeurengCul QEUIGULOMSLI LITg eI wimf?
\/& O&ITSeSWMpeuT (B) Qgraw_rig u@umgwimpeurt

(C)  Qumrienswmpeuri (D)  Hlurestmpaumt

175. Match the following :

Quotations ' Authors

(a) Mathar thammai Izhivu ceyyum 1. Kavimani Thecika Vinayakam Pillai

Matamaiyat Koluthuvom
(b) Kalvi yillatha penkal Kalarnilam 2. Bharathiar

(¢) Mankaiyarai Pirappatharku — Nalla 3. Namakkal Kavinjar
Mathavam Ceithita Vendum

(d) Tamilar enru Sollata — 4. Bharathidhasan
Thalai nimirnthu Nillata

(a) (b) (©) (d)

(A) 4 1 3 2
(B) 1 3 2 4
) 2 4 1 3
(D) 3 2 4 1
A , 63 HLE12
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Epsaranh Qar_iamer eunblear o fMluraGerm(® Qurapss:s :

(a)

QamenggGeurid
(b)  saeciuildans QueamgeT seni Hleob 2.
(0 wremsurmi GplugsnCs - pae 3.
wrgeuid Galdl Geuamr(hin
(d)  sper eramy QerdaLn, geve BllThg 4.
BlévevLm
(a) (b) (c) (d)
(A) 4 1 3 2
(B) 1 3 2 4
©) 2 4 1 3
») 3 2 4 1
176. Match List I with List I1.
Last 1
Thermal power projects
(a) Dhurvan 1.
(b) XKorba 2.
(¢) Obra 3.
(d) Talcher 4,
(@) (b) () GY)
A) 1 3 2 4
(B) 1 2 3 4
w5 1 4 3 2
D) 1 3 4 2
U guwied Iemanm uliguied IT 2.1 6 Qummsgis.
Ll igwes I
Siared Wan Sl miger
(a)  gI(meua 1.
(b) Qa&rrum 2.
() euym 3.
(d) sroFer 4.
(a) (b) (c) (d)
(A) 1 3 2 4
B) 1 2 3 4
(©) 1 4 3 2
(D) 1 3 4 2
HLE12 64

Qg m_rser

WIGT Hnenw @ifie Gl wLamweawsd 1.

&6 @hiT&HeT

saflanfl Cafla aprwsd Gerenar

urgdwme

BTLD&SGE) &6l @hT

ungdlgreen

Last I1

States

Gujarat

Orissa

Uttar Pradesh
Madhya Pradesh

uliguied 11

D miblev b g
GRITE

L

2 87 GrCseid
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177. Match the following :

(a)

(b)
(©)

(d)

Writs

Habeas Corpus

Prohibition

Certriorari

Quo-warranto

(a) (b) (c) (d)

% 3 1 4 2
(B) 1 2 3 4
() 2 3 4 1
D) 3 4 2 1
Gemeu(meuareuenm GILIMBSSIS :
BALGL G men et

(a)  operQasren it oy emem

(b) s enamT

© Gpdlopep 2 s
(d) 568 weapesam

(a) (b) (©) (d)

(A) 3 1 4 2
(B) 1 2 3 4
© 2 3 4 1
D) 3 4 2 1

o

65

FFeature

not available against administrative

authorities
cannot be applied against ministerial office

may be applied by a stranger or a social

worker who need not be an affected person

not available against legislative bodies and

private individuals

SILDFLD
flireuns  flerilsEnss odirms @UGmrreﬁeisa;
@wevrg)

SODEFTEHERE(S, THrTs ArCurdlss @ueng

b, UTHULEGETTETS TS Feps
pTeseBb Camreomd
FULDGN AU SET HNL SeflBUTsErss

adlyrae ArCurdlés @uiang
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178.

179.

Match the following is correct answer.

(a) Manikodi 1. G. Subramani Iyyar
(b)  Eluthu 2. Thiru. Vi. Ka.
(¢) Sudesamitiran 3. P.S. Ramaiha
(d) Nava Sakthi 4. C. Su. Cellappa.
Codes :

(a) (b) (©) (d)
(A) 1 2 3 4
(B) 4 1 2 3
(®) 2 3 4 1
(D) 3 4 1 2
uligwe [g ulquwe II o Lear Qurpsd. &Gy Gar@asLul(Herer MG smers Qeram® &flurear
aferenwg Casrpbs®.

L igwed I ulgwe II

(a) wellsCamg 1. & sul@ywesilu guir
b)  awss 2. fmeis.
() &Carligdren 3 9. erev. FTenLWT
(d) meussd 4. & Qe
CLMCERL

() (b) (c) (d)
(A) 1 2 3 4
®B) 4 1 2 3
() 9 3 4 1
@3 4 1 2
Find the odd man out :
(A) Thiruthonda Thokai (B) Thiruthondar Thiruvanthathi
(C) Thiruthondar Puranam (D) Thiruvilaiyatal Puranam

Spssramueneupmer QUTHSSLOHD®SH &MOILL9H .
A)  HmsLgrem _stsrans B)  ImsQsTawrit HmeupbsTH
(C) HmaQamami Lgrentid ‘9) -gﬂ@aﬂmmmns_mqr}nmmb
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180. Match List I with List I and select the correct answer using the codes given below the lists.

List [ List [1
(a) Direct Action Day 1. 20 February, 1947
(b) Interim Government 2 3 June, 1947
(¢) Mountbatten Plan 3. 16 August, 1946
(d) Attlee’s statement 4, 2 September, 1946
@ B © @
(A) 3 4 2 1
(B) 3 1 2 4
.3 4 1 2
-
D) 4 3 2 1

auflens Io Lanr cuflens Ilellenans Qumpsd euflenssEensE & Qamdssuiul(eter QgmE e mpg
eflwrer eflen_Wilenang Cgfley Qals.

aufensg | aufleng 11
(a) Crflen & Qawdprer 1. 20 8ureur, 1947
(b) Qe ssre Sigs 2. 3 e Oeir, 1947
(©)  Guoeraim’ GuLLan &b 3. 16 eymav(. 1946
@) =i auler oifediy 4. . 2 Qs Ui, 1946

(a) (b) (©) (d)

(A) 3 4 2 1
(B) 3 1 2 4
©) 3 4 1 2
(D) 4 3 2 1
A 67 HLE12
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181. Which one of the following fundamental rights is applicable only to citizens and not to
foreigners?

(A) Equality before law
(B) Right to elementary education
(C) Freedom to manage religious affairs

() Right of minorities to establish and administer educational institutions

( | USTCUDDIET Glg DESEHEHE fleoL a0 Qugb penmed GeuallprlLeimée depssl Qunng
o famin 57

(A) slLsdm apen sob

(B)  oyobdu soeldsTer 2 Menw

(C)  gvw Hlapejsmer Guemesb a5mSTD

(D) saa flygeaasamer Himed HisudléEd Hnuraenwuleamaste 2 Mamo

182. Which of the following provisions came into force even before the commencement of the

Constitution of India?
(A) Fundamental Rights
). Citizenship
(C) Directive Principles of State Policy

(D) Amendments to the Constitution

Serau(mld @ibsmsafld QBEw irfluomblUly e (PonsE eumausnE wendmpts Cawamumn’ u.ne
UbSE TEI?

(A eglueni o fenwaser

(B)  @uwflaw

(C)  <@wrs Qarerensuler eudlar_ () Qphaet

D)  erdluaemnliy mssriser
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183. Match the following List I and List II and select the correct answer.

(2)
(b)
(c)
(d)

List T

Cyano bacteria 1.
Ammonifying bacteria 2.
Photosynthetic bacteria 3.
Denitrifying bacteria 4.

Find the choice of correct combination.

Last 11

Rhodospirillum
Thiobacillus
Bacillus

Nastoc

uliguwied II

GrrGLrevepufaband

agsCwr Culaasy

urdéeven

BITEVL_T5

() (b) (c) (d)
(A) 1 2 4 3
B) 1 2 3 4
(©) 4 3 2 1
= 3 1 2
V SpasamL uilique Ig ulgwe Il o ar Qurmsd), sflwurer alenLeamuwg CaTbasH.
uquiéd I
(a) enswCenr umdeMur 1.
(b) wCuwraflunarggn Lrdefwr 2.
(¢) ogalleGsrsens ursrefwm 3.
(d) eplrmenar Gans@GD LnseRum 4.
aflwrs QurpssLLLL s Csbos(H &S L.
(a) (b) (©) (d)
(A) 1 2 4 3
(B) 1 2 3 4
(©) 4 3 2 1
@ 4 3 1 2
A 69
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184. Consider the following pairs :

I. Willy-Willies —  Australia

II.  Typhoons —  China

ITIT. Hurricane — Japan

Which of the pair given above is/are correct?

(A) Tonly 7(}5) Tand 11

(C) Il andIII D) IIonly

Weneu(mid Genearaamer &bl Garers
L sfleadl-aderallet — g evSGradiwm
II.  eyensen - e
III.  enfiCaen —  spUiimen
- CuopEHlulblL @eensafen erg &f?
(A) Twl@w B Twopmwll

© 1 woms 111 (D) 11w @

185. Match the Geological Era with their periods.

(a) Precambrian 1. Jurassic
(b) Cenozoic 2. Archaen
(¢) Mesozolc 3. Silurian
(d) Palaeozoic 4. Eocene

() (b) (©) (d)

fa, 2 4 3
(B) 3 2 4 1
©) 4 1 3 2
) 1 3 2 4
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186.

HeS e WsmsameT Sgangen HrensGarm(H Clummss)s.

(a) Gablflweyss wearsran
(b) QsCamCGesruis waw
(¢) BCanCsmuis ysn

(d)  Ggraoguit yswb
(@) (b) (c) (d)

(A) 2 4 1 3
B 3 2 4 1
© 4 1 3 2
(D) 1 3 2 4

Match the following :
(a) Doctor wind

(b) Cherry blossom
(¢) Blood rain

(d) Foehn

(a) (b) (© (d)

(A) 1 3 2 4
@y 2 4 3 1
© 3 2 4 1
(D) 4 1 3 2

Epaam_euhenn FAwNE QLIT(HSEES

" (a)  LrsLTsTHm

(b)) Q&M undsd

(©)  Quss we
(@ unen

(a) (b) (©) (d)

(A) 1 3 2 4
® 2 4 3 1
© 3 2 4 1
D) 4 1 3 2

1.

2
3.
4

> W o

= e

71

ornéls

2 TCawe '
SlaurMuwieir
@Cuimdlen

Switzerland
Sahara of Africa
South Italy
Karnataka (India)

el Freombg)

s&nm (LA RNEET)
AsnE Qs ma
sMBILET (@Bwm)
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187. Arrange the following divisions of the Vijayanagar Empire in descending order.

1. Rajyams
II. Kurrams

III. Valanadus

IV. Nadus
(A) I, II1, 1V, IL By I iI) v, 111
(C) 11, 11, IV, I . D) 1 LI I IV

emeumid eflmwpsr Currdlen Afleysanar @miiE suflenasuiley er(pg).
1. FTERell Wi miser
II.  saporser

[ suenpn@ser

IV.  preser
A, TIHLIVID - B) L1, IV, 111
(C) II,IIT, IV, 1 (D) [, L 11, 1V

188. Point out the wrong statement in the following :
Statements :
(A) Samudra Gupta defeated 12 kingdoms in the South
(B) Fahien’s travel account deals with the conditions of the Gupta Empire
Y Skanda Gupta was defeated by the Huns
(D) Kumara Gupta issued silver coins in Western India
Spssar_ smigiIssalla soupTaTens & 1qé &rariisaeab.
FH(HEHISHSET -
(A)  supsdly GLsT Gaanaibduneld 12 sipasamar Heuammmi
(B)  uredwrefler shmer @My GUS srbyrRusden Blaweawai ellerd@EHng
(C) evaps GLST enSDaniseamme Camhaig&siuLl LT

(D)  @wry GLsi Crohe @Bdwrelen Geusat brewrwiti&Hen o auphdl e
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189. The state of matter in their increasing order of entropy is

190.

(A)
(B)
©)

Solids, Liquids, Gases, BECs
Liquids, Gases, BECs, Solids
Gases, Liquids, Solids, BECs

MY, BLCs, Solids, Liquids, Gases

SUQunmmaflen Hlenawaergy eramg.Crmiaemen gmeuflansuiia @iluug

(A)
(B)
(©)
1)

Seprorger. Hroumsar, curusaar, (9.6).8.s6r
Syeuriser, aurysae, 19.0).8).sar, Hemomiser
eur&aer, Slreurisdr, Hamomser, 4.E). 4. ser

9.0). . ser, SleRTomser, SlFeumiaeT, um|&ser

Black Sea is named so because

(A)

al

191.

(€)
(D)

it 1s black in colour
of its rich concentration of micro algae
its, water converts everything into black

both (A) and (C)

S(HIAISL G eTarm) Gl @ Ui’ igmULSDETET STFemLd

(A)
B)
(©)
D)

c&l@ &;@GD')LD ‘r_ﬁ]m‘@@@u @@1.-”J§)”(‘7‘\)

miewr sLpLnluier 0@ winer GeMeler sryenrons

Sisan pir sienange@ b smalo BinsHHE wrHmeusTD

() phmbd (B) & Gye Gid

Match the following :

(a)
(b)
(©
(d)

(A)
'BY
©)
D)

Maulana Abul Kalam Azad
Mahatma Gandhi

Allan Octavian Hume

ol .

Dr. Rajendra Prasad

(a) (b) (0) (d)
1

W O

= R WD
N = D W
I Vs N

73

Desh

The Peoples’ friend
The Harijan

Al Hilal
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Qummsgls :

(a)  QeTemaT LW ST DLFTE 1. Cszey

o

(b)  warHLTHTHS waaellen FerLien
(©)  peven o aGLeilien gnwbd 3. & anflaen

(d) créim GurCosdly Greng 4. 3 ableoméd

(a) (b) (c) (d)

(A) 1 2 3 4
(B) 4 3 2 1
o 2 4 1 3
D) 3 1 2 4

192. Which one of the following is a polar orbiting satellite?
(A) INSAT (B) GSAT
(C) METSAT ™ TResource sat
SLpE&SEHTL cuDHMIET gi(HeuLl UTESLE HHMID QewnenassGaTar 6rg)?
(A) INSAT (B) GSAT

(Cy METSAT (D) Resource sat

193. Thermal power stations are located in
(/1-\ Tuticorin, Ramagundam, Rajghat (B) Narora, Kaiga, Palghat
(C) Caddalore, Kota, Tarapur (D) Salem, Pune, Narora
Sierey Wlen FlenamSET BanBgIETeT B BigeT
(A)  s16816E), TTDEETLLD, FIsT (B) BCympm, evsaT, LT@ETL

(C)  sLgnm, Camlim, srymiy (D) Gsewbd, LGesr, sCrmym
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194. Match the following :

(a) Manchester of South India
(b) Lattle Japan
(¢) Textile Capital of TamilNadu
(d) Detroit of South Asia

() (b) @
3 3 1 4 2

| (B) 3 1 2 4

(©) 1 3 4 2
(D) 2 1 3 4
QuTmsgs :
(a) Qger @pdwreilen wranGgevr it
(b))  Blg aturer
(©) GCpseys samepsrd
(d) QspsrHwrelar QL ymil

(a) (b) (© (d)
(A) 3 1 4 2
(B) 3 1 2 4
(©) 1 3 4 2
D) 2 1 3 4

195. Deflation refers to a condition of

)

©

1. Sivakasi

2. Chennai

3.  Coimbatore
4. Karur

1. SHeusré

2. Qgesienes

3. Gasmwibysgni

falling

constant

4. SR
prices.
(B) rising

(D) moderate

uereun_L b eTenmgy eSleneudan eThg Hleneveanid @Gml&enh?

(A)
©)

alleney (HEDHE
aflena HleneliLBidsiLbhge

(B) e&lepew 2 wisev

(D)  Ngwrer efanay 2 wirge

75
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196. ldentify the odd one from the group of matevials given below :
Glass, ebonite, copper, rubber
(A) ebonite . _(' copper
(C) glass , (D) rubber
&G QamHsatiulGerer Qummlsatisn @upwadbE Gurmbsrsabanm e S,
SETERT My, eTGUImenaTl, &, rUum.
(A) eCGurenam (B) &moun
(©) (D) gour

197. Which of the following statements about ‘sound’ 1s TRUL?
L. It consists of longitudinal and transverse pressure waves
IT. I»t travels through vacuum
ITI. Beats are produced due to interference of sound waves
IV. Intensity of sound 1s measured in Hertz
(A) TandlIl (B) ITonly
(C) TITonly (D) Tl and IV
gellenwis LpOlw SpsaL g pmisaila sfluneaemey aaeu?
I. padlwrang) QUL ane&ET DML GNHSMmOsHETr GlaTemm g
II.  gdlwreang Qeupdl_sHlebd Lwiestl&@n
[l @ smasaiar @nss 6 edemearelarme o @ _meug) 6ND@EET D@L
IV. g @me Ledleller siove, danm e <4,@G0
Ay I wpmyw I (B) IHwlpw

ﬂ TIT wi (b (D) TIT inpayih TV
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198. Which of the following compilation of Nalayira Divya Prabandam (4000 sacred Hymns) is
correctly matched?

(A) First thousand Hymns — Ivarpa

("3) " Second thousand Hymns — Periya Thirumozhi

(C) Third thousand Hymns — Thiruvaimozhi

(D) Fourth thousand Hymns — Thirumozhi

Eipssai_supmier preomudy Heuwds Gyupssdlen s GanEuy sflwrs Qummssiu (Hererg)?
(A)  paemulgn BTLOSET — @uibu

B)  @rarLroruiyn urcdser — Guflu SmGwomgl

C)  epeampromulgd ur_dgear — SmeumiGiomf

(D) mrevsmomulyn urcdser — Hw&wmg

199. Purat.h Thooimai Necraan Amaiyum; Agath Thooimai.....
(A) Thavaththaan Varum o @B, Vaaymaiyan Kaanappadum
(C) Thoontak Kedum (D) Olivodu Ozhugappadum
Lmd snienw Homen emwwb; ASSHILLD eTaaTed fluluBin?
(A)  seugsnes eu(mid (B)  eurwemwwres srawrluu (i

(C)  gnesis AsBHw (D)  ealQur® gualiu@Bn

200. Which of the following is called as ‘Thodar Nilaicheyyul?
(A) Neethi Illakkiyam (B) Ettuthokai Noolkal
(& Epic Literature (D) Pillaithamizh Takkiyam

‘Qarir Hlenad Qawwer eremm QL a1’ (Hid @esdlu euams arg)?

A) B @asdubd B) al@sCsreans mrévser
(©)  srinbw Qasduin (D)  Yeremargzdlp Qlesdlwib
A 77 HLE12
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| ]

GT 60T 1

2012
Glumg) < mdlepb Glurg <ime|n

Siaywdésnd Herar Cogw ;3 wenfl] [Qurgs LHOCLaTser @ 300

Aeamésens@ ufoalsguean Spsaam_ g deymrasmer SIS Lig&S6D

& sdleyemrser

1. @Qbs efles Qan@iy  em Cogeomenws (@lEs ussdans)sd GaramBaeng. Csmey Qsmm@in Gursdean
eflemECam@enng Snd@ibulyg sasrat iurean samnib suenyuiler Cogleppenig Endad smiLng). elenmstanglamnus
Hmé@ibuiguinen Qelians sesrsrenfluumerfBlmba QubpeyL e Guaienuien cua gL ndans seuanons Hisss 4nas

Ceuar(BiLd. 2igeniien Gaareilssms L wermaas Qgmthigeomb.
2. Qs edarrs QerEiy 2007 damssmend Qanas(Heterg. ol waiss Qerikigupen @deilamstsneEl o

erévem eSlamnasErid Gl Qubmietenaralr eremiengud @ent uld &b QaunmssTaTHeT 2. aTeTaIeul ereLiensHu|Lb
Filuniggid Qanearenayid.

3. eroo eflanasigna@n eflent_walldsayb. e clilamss@sb swwrar whHbluaTaar bl&meEm_ane.

4. 2 mISERELW L6y sramenent @bl LsssEar cung Cue epemauild ighblaa mwpgiarer G sl Briser
ar(pg Ceuam(Hib. Caumy cTeng b eflantg Qg G Ll eT(pssH snng).

5. clleni_genend @Hlsgis ST eran, cllepl SEHTET QEngl L RAEEEG sarsraturard sellurss srou@i.
eblent_ggnafler (psa LEESHD 2 RmisEnerLw Lley eram, Guwi, edemgllamEly euflens erart (S1. No.) whHmib
Gal_(pemer ellugmsenen Briser er(ps Couent(Hb. seubianned o maans aflan_ssmar (adrgsnasiuiib.

6. 2 msERerLWw Loy erer, Cameysgmer eranr wpmib eflamdasmgly cuflens erear (S No.) apsellwcupenmubd

efen_ganaflen Grawrimb uLEsHED DausERESTH SebbgaTar @)L risald Fob wwg smen Hn

ewuer W ubgiaperar Guamelleamed @ildgis sl Coudm@Hib. CupaarL. efluriisener allen_ggnafer Hriser

GENETIE STLE seudenmed 2 miser eflenL SHmer taaanssmas U fib. A

epanaleurnm ellammayd (A), B), (C) wibmid (D) eran meis; cllant senars: Glanaim(hemeng). Hiusdt senasatled G exm Afluinen

aflenLeniig Gaiey Gaiig) edem_samalléy @ilgsis anli_ Couam(hid. epemydi@ Guopui L silwuman eflenL s sxm Gadiallé,

GuliLges smdamey Bruser 10sF sfluimeng, ereim) erangs smamADTaGa ibg eflen_enw alen_sgraflcd @Hlggs sm L

Ceuesrm(Rid. eniuguimifignitd exm Caemallas lr gm el sowggren Caibblphiss Geuamib. o mmEremL L GTEs

Gl e Brusar eflen_ssrefles @ilggs an' Hid sfluner ellen saflcn erefenilEansenil QUNMISSS).

8. AevLggmafler peiQeunm Caated sramranfin@n crfific [Al, [B], [C] wiomid [D] eren mireng efen s 1 miger o avera.
o CoarellsE afteLwallss Shisar sMGwer sman efla e Gy e el as L sl LB LB paoeil
GuasmeSlanmed @iligs am Geusgm@ib. geublein Caarells@n am efenLmus Cosos(ss edamLggraia @ hes
Geuatnr(Hid. e Gaarallé@ epemmis@ Cupul elleviialEsnd ibs eleni_ SeupTansis SH(HHUILHID. 2 SNyewTons:
Brasar [B] eramans sflwurar eflapwinags smlenmedr iens Gaeumionn @blsgis st Ceusimib.

(A] [ [C) [D]

9.  pBrsen eflenrg Qamgliben arpsll usssasLD FEsCour was AifssCar sarg. Gaiey Crrsde @ns
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